ITI Electrician 1st Year Module 3 Electrical and Magnetic circuits

(1). Which is the diamagnetic substance? | qﬂ%ﬁﬁnwﬁﬁ?wép

(A) Air | dTg
(B) Steel | 2¥Id
(C) Water | oldd

(D) Platinum |1ﬁﬁ_"ﬂ:[

Correct Answer : C

XN

(2). Which factor affects the polarity of the eIectu(n‘%et? | &I T DR
faggd grae @l aﬁwﬁuwﬁam%@
(A) Length of the coil | @SQ'IGI &t Q‘I*dlé\:b

(B) Direction of current | ‘EI'RT@:

(C) Strength of current | YIRT

(D) Strength of the mag§$ield | W’J & B! Tfad

Correct Answer : B

(3). Calculate the value of unknown resistance ‘RDC’ in the Wheatstone bridge
network, If PAB = 500W, QBC = 300W, SAD = 15W,at balanced condition. |

I SIS b1 Tger b1 SaRITH 31T UfcRIY ‘RDC’ T HM T b1, STdl




PAB = 5000, QBC = 300Q), SAD = 15Q ﬁ

B
Fap Qpc
Iq
A % C/D c
S, Rpe
D

M X
(A) 12Q | 12Q \,QQJ
(B) 90 @*

(€) 60 o
(D) 3Q ,\\'Q:\~
N\

®
Correct Answer : B @ .

(4). Which type of capa&ws are used in RF coupling circuit? | 3RUM JIH-q
Tfthe & fhd UHR & G &1 U fava Siran g2

(A) Tantalum |%'EF‘ITI
(B) Monolithic | I NIRED
(C) Electrolytic | $Q}1d'§\l‘l?1lrecb

(D) Metalized poly propylene | YIdP d q”lﬁldlﬁlsél:l

Correct Answer : B




(5). What is the voltage drop in resistor ‘R,’ in the series circuit? | goft uuy |
gfoRIY® R, H diecs! UTd HH ddrsU

1000 R, 2000

(A) 5Volt \.Q
(B) 10 Volt @

(C) 15 Volt o)
(D) 20 Volt \Q:\~

(6). What is the functio@dlelectrlc insulator in capacitor? | e fftRT[%l?ﬂ?f
HATAD DI BT HT §?

(A) Increases the strength of capacitance | T ﬁmm%

(B) Prevents any current flow between plates | Wicl & & [t H ¢RT UdTg
CARIC I

(C) Protects from short circuit between the plates | @%WWW@W

3

(D) Helps to hold the charge in capacitor for long period | TeTRT H 3MTa DI dd
T d% TG § GG Hrdl §

Correct Answer : B



Correct Answer : B

(7). What precaution to be taken before connecting the different voltage rating

capacitors in series? | mﬁﬁmﬂm%ﬁﬂﬂmﬁﬁnﬁﬁmw
A SRl ST Fgy?

(A) All the capacitors must be same manufacturer | ﬂﬁ%ﬁﬂ@ﬁﬁﬂﬁ
CASERIIHY

(B) Each capacitors voltage drop must be less than its voltage rating | Tdd

HURICY dlec™l 1T SHH! dlecsl ST HH AT AMBY

(C) Total capacitors value must be less than the lowes Q&I.ue of capacitor | Pl

HURIER BT A JUTRA & FHaq T S HA BT
(D) Break down voltage of each capacitor mus&&ﬁme | Td® TR BT
SP SIS dlces GHM §IFT 1T @
Correct Answer : B ~\:b

BN

N
(8). Which is inversely propor@?to the resistance of a conductor? | D B
UfeRIY & SIS HTIYT] 87
(A) Length | ?‘W—Eﬂé
(B) Resistivity | ORIy
(C) Temperature | dIUHIA

(D) Area of cross section | SIFUR] hIC P RELAY

Correct Answer : D

(9). Which law states that in closed electric circuit, the applied voltage is equal to

the sum of the voltage drops? | ﬁqmﬁmm% %WWWH'&
AT T dlecs], dlec sl UTd b IRT o SRISR gidl o2




(A) Ohm'’s law | 3fI&T &1 fgH
(B) Laws of resistance | iRy & g9
(C) Kirchhoff's first law | foo=Ith &1 Ugdr MaH

(D) Kirchhoff’s second law | fh I &l G o

Correct Answer : D

(10). Which electrical quantity is directly proportional to the eddy current? | ﬁ:f

T faegd A A Hor YRT S JHUIR Bt 82
(A) Voltage | diceol \
(B) Current | YRT QJ

(C) Frequency | &nq% &\;
43’@

(D) Resistance | IEIE]

Correct Answer : C N QJ
. s\\'\
5§’
(11). What is the change of ¢Qs™™ance value of the conductor as its diameter is

doubled? | fHd aT@® Y o o1 URadH gRT, Ife S oM bl G
D fear s

(A) Increases to two times | E-H!:IIWEE ST
(B) Decreases to four times | dIR [l d HH EPfGlIa‘II

(C) Decrease to half of the value | &rrsnwms‘r ST
(D) No change in value of resistance | qﬁﬁuﬁﬁéwﬁaﬁqqﬁr@m

Correct Answer : B




(12). Why the ohmmeter is graduated with non-linear scale? | &hatﬂaﬁ
SRET W o o eI o ST AT g2

100

ok
10k

(A) Voltage is directly proportional to resistance | ?ﬁ@ﬁ, Uﬁﬁﬂ%ﬂﬂﬁqﬁ'ﬁ%

(B) Currentis inversely proportional to resistance | YIXT, UIRREED Oﬂccbl-lqulcﬂ
(C) Resistance is inversely proportional to the s uaYQchurrent | m‘ﬂ, YRT B
1 & YeHAT & ¥

(D) Voltage is directly proportional to the,é@e of the current | ?fl@ﬁ YRT®H
ol & FHEU § Q:\~

Correct Answer : B °’\\'\

®

(13). What is the readin &mmeter across opened ‘Ry’ resistor? | &h@ﬂam

UT3dich Gl §U R, R EIT?
" : " Ry
: .
B

OPEN — o Ry
RESIATOR LJ

| |
S|

Ra

(A) Indicate zero reading | Y UTGUTH W Johd

(B) Indicate infinite resistance | 3d UTedics IR Habd



(C) Total resistance value of the circuit | WUW%WHW

(D) Value of sum of the resistance of Ry and Rz only | Ry 3R Rs gfaiel & I
CARIGH

Correct Answer : B

(14). What will happen, if the polarized electrolytic capacitor is reversely

connected? | TfG W 5@1d§\lc1lsf€cb HWWW@@TE%% dar
BT

(A) No effect on the capacitor | Hwﬁawﬁéumﬂﬁ

(B) Explode due to excessive heat | Wﬁ%ﬂ@ﬂ%@?

(C) Currentis reduced in the circuit | uRoy H W%ﬁ\?l?ﬂ%

(D) Value of capacitance will be increased b HIH de [T ST

Correct Answer : B @
N
(15). Which method of magneigytton is used to make commercial purpose

permanent magnets? | ﬁmmﬁwmm%ﬂ
il gEe TR S I

(A) Induction method | UROT fafe

(B) Single touch method | WW%&[

(C) Double touch method | Eﬁ%ﬁ@ﬁﬁﬁ[
(D) Divided touch method | ﬁlﬂﬁﬁwm

Correct Answer : A

(16). What is the effect on opened resistor in series circuit? | Q’Uﬁtlﬁ'qﬂﬁ@
BT UfaRIY TR 1 UHTE ]2



(A) No effect in opened resistor | @Waﬁﬁéum:@

(B) Full circuit current will flow in opened resistor | @mﬂﬁ@q\f’fq&qq
YR I8t

(C) Total supply voltage will appear across the opened resistor | E;ﬁm‘d$

Gl 3R $d 3MYfcf dtee feamm

(D) No voltage will appear across the opened resistor | E@[Uﬁlﬁﬂ%ﬁ 3R
DIg dlecdl o fa@T

Correct Answer : C

(17). What is the reading of the voltmeter ‘V'? | aslﬁfﬁﬂ/' CARIGRICACHIEY

. Ry =33k [}

A (A .
I /‘U‘I_\
; W)
I
J_ 18V

(A) OV
(B) 6V
(C) 9V
(D) 18V

Correct Answer : D



(18). What is the capacitance value of a capacitor that requires 0.5 coulomb to

charge to 35 volt? | WH'?JTRHW ?«ITR_CIT'J:I'F[WEPF'IT,‘CI'%% W%%’QO.S
DAY AR DI SHIID T BI?

(A) 0.014F
(B) 0.025F
(C) 0.14F
(D) 0.25F
Correct Answer : A
XN
(19). What is the effect of the circuit, if ‘ab’ poin aﬁrted? | aiRuy &1 T

TUTd BN, I AB ﬁaqq@am%maﬁbﬂ

SUPPLY
| IS |
il
| IS |
&
| W |
&'

]

(A) Circuit resistance will be zero | Wumﬂﬁﬁﬁﬁﬁlla‘ll
(B) Same current will flow in all branches | gt Trareti § gHH ?J'RTE%TTT
(C) Supply voltage will exist in each branch | Ud® QRaT | @ﬂqﬁm ?%‘II

(D) Total circuit current is equal to each branch circuit current | Wqﬁqﬂ YIRT

U AT YRT & GHH g1

Correct Answer : A



(20). Calculate the resistance value in R3 resistor. | R3 fRiy® | UfaRIiYy 1AM

R=40)
| —

| |

124 R,=60
]

L 1

Re=7
|

(A) 40Ohm K
(B) 6 Ohm @
(C) 8 Ohm . Q:\:b

(D) 12 Ohm ’\\'\

Correct Answer : D @ ¢

(21). What is the unit of Magneto Motive Force (MMF)? | I g dIgh &d] i

TSI &7

(A) Ampere / M? | THITR/HI?
(B) Ampere - M | THITR-HT

(C) Ampere - turns | THITR-&=H
(D) Ampere / turns | THIR/C=H

Correct Answer : C



(22). What is the similar term in magnetic circuit for “conductance” in electrical

circuit? | fagqgd aRay & "araemdr” o forg gaw g Afche T THM s 71 87
(A) Reluctivity | Retacifadt

(B) Permeance | IRTIIY

(C) Reluctance | Reldcd

(D) Permeability | GBS erct

Correct Answer : B

(23). How can you increase the pulling strength of an eleQ)magnet? | 3MU Uch

fdagd ia® P Wia- &1 dlhd Hd §¢1 Tdhd o2 QQ/

(A) Increase the field intensity | aaﬁ?ﬂa?ﬂ 3
(B) Reduce the current in the coil | ' P
(C) Reduce the number of turns in.th%‘\'f'ri Wﬁqmﬁrﬁ G- HH D
(D) Increase the B-H curve of thE:%}erial | Wﬁ%ﬁﬁ-wﬂ ash Pl S 1Y
.
&
QD

(24). Which is the application of series circuit? | WWHWWW%?

Correct Answer : A

(A) Voltmeter connection | dlecHIc IaioH
(B) Lighting circuits in home | W H YHIRIT gRuY
(C) Shunt resistor in ammeter | 3R # e ufeariy

(D) Multiplier resistor of a voltmeter | dleeHICR BT Hee TR UiaRiY

Correct Answer : D



(25). Calculate the resistance value of the resistor by colour coding method. | 7

e fafd & gRT UfcRIY &1 A dd18T
RED ORANGE
] 1
L =
e —— Ul = —
il =
[ | i
BLUE ELIWVER

(A) 23x10°Q+5%
(B) 26x10%Q +10%

(C) 32x10°Q+10% \
(D) 37x10°Q +5% %
&
S

(26). Which is the correct expression acitance ‘C’ if the electric charge is ‘Q’
and the voltage is ‘V'? | tﬂ% 4 'Q’%Gﬁq?ﬂ@ﬁ’v %,T‘ﬁﬂ"dll?al ' B
e sificafad Fa g ? .

vV

Correct Answer : B

=

(A)

C_V
Q
(B)

(C) c=vQ



c=,VQ
(D)

Correct Answer : A

(27). Which resistor the lowest current flows in a parallel circuit having the values
of 500, 2200, 4500 and 560Q connected with supply? | Wqﬁqﬂﬁ\_{l@@
50Q, 2200, 450Q TYT 5600 TR T ¥ ford UfcRIY T Y& & YR 981d gRI?
(A) 50Q Q’}.

(B) 2200Q Q

\.
(C) 450Q
(Q\

(D) 5600Q

Correct Answer : D . Q:\:b
N2

®
(28). Calculate the value o@nce by colour coding method. | W@ﬁfﬁ%
GRTUICRIY BT A

«a

Il
2 Il
Il
Il

o || [ L

(REEN ORANGE

e

(A) 22 x10°+ 10%
(B) 23 x 10*+ 10%



(C) 25x10®+5%
(D) 36x10*+5%

Correct Answer : C

(29). Which rule is applied to find the direction of magnetic fields in a solenoid

coil? | TRATIIST Hac & Jad g &3 B G @ioH & forg &I 91 fg| amg
foraT STaT 82

(A) Cork screw rule | ﬁ@ﬁtﬂ

(B) Right hand palm rule | ari%ﬁauﬁgﬂ?«ﬁwﬁw

(C) Flemings left hand rule | u@rfﬁiﬂwam‘fauw

(D) Flemings right hand rule | AT BT T g

Correct Answer : B ®

(30). Which type of resistor is use &c guenching protection in circuit

breakers? | Tfdhc SHA A R&M & o b TpR & UfoRTe &1
SUTNT fhaT ST /2 $

(A) Varistors | IR

(B) Sensistors | TR

(C) Thermistors | yfHfex

(D) Light dependent resistor (LDR) | W%ﬁ@?ﬁ@

Correct Answer : A

(31). What is the total inductance if 3 inductors (L4, L, and L) are connected in

series? | TG 3 IR (Ly, L, 3R Ly) YT H IS §U G Al $f IRbed T 82

(A) LT=L1XL2XL3




(B) LT=L1+L2+L3

. _1+1+1

Tl Iy
(C)

i 1

"L+ Ly + L

(D) X
Correct Answer : B Q/

X
(32). What is the name of the resistor if its r. 'Xe value increase with increase

in temperature? | m‘%wﬁq@% mﬂmm%?ﬁmﬂ
B H R g2 Q,

(A) Varistors | IR E .
(B) Sensistors | AR $
(C) Thermistors |

(D) Light Dependent Resistor (LDR) | as‘c’%ﬂé?%lﬁm

Correct Answer : B

(33). How the value of capacitance can be decreased? | YT %Wﬁﬁ
o4 a1 o Tl g2

(A) Increasing the plate area | e @I?Ilbﬂ Ca delh
(B) Increasing the resistance of the plates | el & Uiy &l TaTh
(C) Increasing the distance between the plates | @ﬂ%nwgﬁw



(D) Using high dielectric constant material | WWWWW?‘TW
ST HRdh

Correct Answer : C

(34). Which is the cause for changing the permeability? | RiFfaferdt & ufvafda
B &1 T HRUT g2

(A) Length | ?IWI_SC
(B) Flux density | Ucfd] Ydcd

(C) Field intensity | &% digdT
(D) Magneto motive force | ﬂGIOI‘Jan died ddi Q

Correct Answer : B

(A) Temperature effect |
(B) Laws of temperatu AgHE & aH

(C) Temperature constant | dIYHIH fradis

(D) Temperature co-efficient | dTUHI IJUlch

Correct Answer : D

(36). What is the S.I unit of specific resistance? | %&quﬁlﬁﬂﬁy WI"-(EW%?
(A) Ohm/cm
(B) Ohm/metre?

(C) Ohm-metre



(D) Micro ohm/cm?

Correct Answer : C

(37). Which is a paramagnetic substance? | &WWﬁﬁqﬂT%?

(A) Air | dIg
(B) Steel | 2HId
(C) Glass | hid

(D) Water | oIc]

Correct Answer : A &
QQ/

®

(38). Which defines the flux density is always g behind the magnetising

force? | TRTSRT U-cd GHRI 1T 9 3 g, frus! ufvuTia sar g2
(A) Hysteresis | TeSc g . Q:\“

L)
(B) Magnetic intensity |

®

(C) Magnetic induction | URTT

(D) Residual magnetiww

Correct Answer : A

(39). What is the reading of galvanometer in wheat stone bridge at balanced

condition? | Tqdferd fRUfT H ieweH foet H fiea-IHTex &1 AT - giar g2
(A) High deflection | 3= faggur

(B) Low deflection | &H fa&mu

(C) Nill deflection | ¥ fa&qur

(D) Oscillate | 3HTRPpeic



Correct Answer : C

(40). What is the effect on surrounding metal placed in a magnetic field? | W

& T Tt 173 STRYUTY ! &7 TR T THT TSl 82
(A) Hysteresis | %@%ﬁm

(B) Skin effect | ddTUHId

(C) Eddy current | HaR YRT

(D) Dielectric stress | ueu’&ggd d-1d

Correct Answer : C &
QQ/

(41). Calculate the voltage drop across the resis&&\‘ﬂ’ in the circuit. | gRay H
TRRIYS R, TR Aees T &1 T FIRREQS

RF360 Ry=4002 R,=6002
Bignter
I
Ry=80Q

L+0) L-O)

o 220V -
(A) 48V
(B) 72V
(C) 80V

(D) 100V



Correct Answer : D

(42). What is the value of current in the 1g? | ¢  YRT BT I fd G\Idl %?
s
h=2A

I=3A ls=1A

ly=4A Q
(A) 8A @&‘

(B) 7A o
(C) 5A ,\\'Q:\~
N\

(D) 3A @.
Q

Correct Answer : B

(43). What is the unit of Reluctance? | ﬁﬂﬂ%ﬂﬁm?ﬂ?ﬂ%?
(A) Weber / metre?

(B) Weber / metre

(C) Ampere turns / Weber

(D) Ampere turns / metre?

Correct Answer : C



(44). In which device the air capacitors are used? | aTﬂﬁ?HIQﬂ P 3uanT fog
SUHT H fordT ST 87

(A) VHF

(B) Oscillator | GIcIh

(C) Loudspeaker | @fH-fa¥IRe I
(D) Radio receiver | Ifed! &R

Correct Answer : D

(45). What is the purpose of the shunt resistor ‘R,’ usedyg series type Ohm meter

circuit? | A0 TR & 3figr Hiex uRuy & gie Ry 71 1 Iudiv g2

= | e
A
Ry
UNKNOWN
Rm M Rg Rx| | RE3ISTOR
[
| | E B
| |
SERIES TYPE OHMMETER

(A) To limit the current in the circuit | IOy H ¢RT 1 GiHd BT
(B) To increase the value of meter resistance | e ufaRie & A &1 delHl

(C) To adjust the zero position of the pointer | Wﬁ?ﬁ@lﬁﬁﬂﬂﬁﬁ
HIAT

(D) To prevent the excess current in the circuit | uRgy H 3ffaied YRT &I
R0




Correct Answer : C

(46). Which material is the paramagnetic substance? | &I T uerf &W’J
e 82

(A) Cleat wiring | Idilc arafT
(B) Copper | didl

(C) Bismuth | [eAY

(D) Graphite | UISC

Correct Answer : B

QQ/

(47). Calculate the total capacitance value in t“ .it. | qﬁqﬂﬁﬁﬂ"d”?al
P AT B Q

30uF 10uF MuyF
| |
|

(A) 0.16 pF
(B) 6 uF
(C) 30 puF
(D) 70 uF

Correct Answer : B



(48). Calculate the unknown resistance “RDC” in the Wheatstone bridge circuit, if
PAB=400 ohms, QBC=200 ohms and SAD=12ohms at balanced condition. |

dicEeH fosl Bt e Dt SR H ST UicRIY ‘RDC’ BT HI AT Bitord, ofd

PAB =400Q, QBC = 200Q), SAD =120 f?f

gm % i )

(A) 4Q ’\\,

(B) 6Q @‘
(C) 8Q @&

(D) 12Q

Correct Answer : B

(49). What is the name of the resistor? | qﬁﬁuwwm%?

AN (0

[ H)
Ao R




(A) Metal film resistor | mmmﬂ

(B) Wire wound resistor | awaﬁguqﬁlﬁa

(C) Carbon — film resistor | BT fihed ufaiy

(D) Carbon composition resistor | Hra fAfEa ufary

Correct Answer : B

(50). Which is the application of series circuit? | WWUWWW%?
(A) Fuse in circuit | tertmﬁqu;rr

(B) Voltmeter connection | dlceHIC TSI Q’}.

(C) Electrical lamp in homes | aﬁﬁﬁ@ﬁu \.Q

(D) Shunt resistor in ammeter | IR AY Ych

Correct Answer : A 'b
&

S

N\



